

SLOT RECEIPT

GENERATED AT 2025-02-27 11:49 (UTC)



BLOCKCHAIN BEACON-CHAIN

SLOT ID 8105011

DATE & TIME Jan 01, 2024 · 04:44 (UTC)

SLOT STATUS In epoch <u>253,281</u> ⋅ CONFIRMED ✓

SLOT FEE NO FEE

DEPOSITS EVENTS

#	Validator Id	Amount
1	<u>1107896</u>	+ 32.000000000 ETH � 74,070.40 USD
<u>2</u>	<u>1107897</u>	+ 32.000000000 ETH
<u>3</u>	1107898	+ 32.000000000 ETH
<u>4</u>	1107899	+ 32.000000000 ETH � 74,070.40 USD
<u>5</u>	1107900	+ 32.000000000 ETH � 74,070.40 USD
<u>6</u>	<u>1106765</u>	+ 31.000000000 ETH � 71,755.70 USD
<u>7</u>	<u>1107901</u>	+ 1.000000000 ETH � 2,314.70 USD

^{*} USD values displayed at the time of slot

8 1107902 + 32.0000000000 ETH ⊘ 74,070.40 USD 9 1107903 + 32.0000000000 ETH ⊘ 74,070.40 USD 10 1107904 + 32.0000000000 ETH ⊘ 74,070.40 USD 11 1107905 + 32.0000000000 ETH ⊘ 74,070.40 USD 12 1107906 + 1.0000000000 ETH ⊘ 2,314.70 USD 13 1107907 + 32.0000000000 ETH ⊘ 74,070.40 USD 14 1107908 + 32.0000000000 ETH ⊘ 74,070.40 USD 15 1107909 + 32.0000000000 ETH ⊘ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ⊘ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ⊘ 40.51 USD	<u>#</u>	<u>Validator Id</u>	<u>Amount</u>
10 1107904 + 32.0000000000 ETH ♥ 74,070.40 USD 11 1107905 + 32.0000000000 ETH ♥ 74,070.40 USD 12 1107906 + 1.0000000000 ETH ♥ 2,314.70 USD 13 1107907 + 32.0000000000 ETH ♥ 74,070.40 USD 14 1107908 + 32.0000000000 ETH ♥ 74,070.40 USD 15 1107909 + 32.0000000000 ETH ♥ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	<u>8</u>	1107902	
11 1107905 + 32.0000000000 ETH ♥ 74,070.40 USD 12 1107906 + 1.0000000000 ETH ♥ 2,314.70 USD 13 1107907 + 32.0000000000 ETH ♥ 74,070.40 USD 14 1107908 + 32.0000000000 ETH ♥ 74,070.40 USD 15 1107909 + 32.0000000000 ETH ♥ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	9	<u>1107903</u>	
12 1107906 + 1.0000000000 ETH ♥ 2,314.70 USD 13 1107907 + 32.0000000000 ETH ♥ 74,070.40 USD 14 1107908 + 32.0000000000 ETH ♥ 74,070.40 USD 15 1107909 + 32.0000000000 ETH ♥ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	<u>10</u>	<u>1107904</u>	
2,314.70 USD 13 1107907 + 32.0000000000 ETH ♥ 74,070.40 USD 14 1107908 + 32.0000000000 ETH ♥ 74,070.40 USD 15 1107909 + 32.0000000000 ETH ♥ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	<u>11</u>	1107905	
14 1107908 + 32.0000000000 ETH ♥ 74,070.40 USD 15 1107909 + 32.0000000000 ETH ♥ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	<u>12</u>	<u>1107906</u>	
74,070.40 USD 15 1107909 + 32.0000000000 ETH ♥ 74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	<u>13</u>	<u>1107907</u>	
74,070.40 USD 16 1107910 + 32.0000000000 ETH ♥ 74,070.40 USD WITHDRAWALS EVENTS # Validator Id Amount 1 225199 - 0.017504958 ETH ♥ 40.51 USD	<u>14</u>	<u>1107908</u>	
74,070.40 USD WITHDRAWALS EVENTS # Validator Id	<u>15</u>	1107909	
<pre># Validator Id</pre>	<u>16</u>	<u>1107910</u>	
<u>1</u> <u>225199</u> - 0.017504958 ETH	WITHDRAWALS EVENTS		
40.51 USD	#	Validator Id	Amount
2 225200 0 0509020/1 ETU A	<u>1</u>	<u>225199</u>	
2 223200 138.42 USD	<u>2</u>	225200	- 0.059802041 ETH � 138.42 USD
3 225201 - 0.017551917 ETH 40.62 USD	<u>3</u>	<u>225201</u>	

<u>#</u>	<u>Validator Id</u>	Amount
<u>4</u>	225202	- 0.017446051 ETH
<u>5</u>	<u>225203</u>	- 0.017515264 ETH 40.54 USD
<u>6</u>	225204	- 0.017530667 ETH
<u>7</u>	<u>225205</u>	- 0.017502307 ETH � 40.51 USD
<u>8</u>	<u>225206</u>	- 0.059578719 ETH � 137.90 USD
9	<u>225207</u>	- 0.017538147 ETH
<u>10</u>	<u>225208</u>	- 0.017518252 ETH 40.54 USD
<u>11</u>	225209	- 0.017525703 ETH 40.56 USD
<u>12</u>	225210	- 0.059769694 ETH � 138.34 USD
<u>13</u>	<u>225211</u>	- 0.017550586 ETH
<u>14</u>	<u>225212</u>	- 0.017568644 ETH � 40.66 USD
<u>15</u>	<u>225213</u>	- 0.017534819 ETH � 40.58 USD
<u>16</u>	<u>225214</u>	- 0.017543985 ETH � 40.60 USD

PROPOSALS EVENTS

<u>1</u> 924010 + 0.041037298 ETH	#	Validator Id	Amount
	1	924010	•

DISCLAIMER

THIS RECEIPT IS BASED ON PUBLIC DATA FROM THE BEACON-CHAIN BLOCKCHAIN. BLOCKCHAIR MAKES NEITHER WARRANTY THAT THIS RECEIPT IS FREE OF ERRORS, NOR WARRANTY THAT ITS CONTENT IS ACCURATE. BLOCKCHAIR WILL NOT BE RESPONSIBLE OR LIABLE TO YOU FOR ANY LOSS OF ANY KIND, FROM ACTION TAKEN, OR TAKEN IN RELIANCE ON INFORMATION CONTAINED IN THIS RECEIPT. BLOCKCHAIR IS NEITHER A BANK, NOR A PAYMENT PROCESSOR FOR THIS PAYMENT. BLOCKCHAIR DOES NOT PROVIDE SUPPORT IN CASE OF PROBLEMS ASSOCIATED WITH THIS RECEIPT.

^{*} USD values displayed at the time of slot